Algebra 2 Name: Period:

Transformations of Parent Functions, Domain, and Range

Graph the following functions without the use of any technology. You should be able to look at the function, identify the
Parent and use it to move the child function with the correct transformations. Identify the Domain and Range of the
Child Function.

1) f(x)=(x-2)"-3 2) f(x)=—(x-3)’ 3) f(x)=vx+2+4

Parent: (name) Parent: (name) Parent: name)
Transformation: Transformation: Transformation:
Transformation: Transformation: Transformation:
Domain: Domain: Domain:

Range: Range: Range:
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4) f(x)=Yx-1+5 5) f(x)=|x-3-2 6) f(x)=2""-3
Parent: (name) Parent: (name) Parent: name)
Transformation: Transformation: Transformation:
Transformation: Transformation: Transformation:
Domain: Domain: Domain:
Range: Range: Range:
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7) f(x) :—(x—S)2 -1

Parent: (name)

Transformation:
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8) f (x):—%|x|+8

Parent: (name)

Transformation:
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9) f(x)=—Jx-3-6

Pa rent:name)

Transformation:
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Range: Range: Range:
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10) f (x) =3log, (—x)+1 11) f (x) =44"x -3 12) £(x)=5(2) " +1
Parent: (name) Parent: (name) Pa rent:name)
Transformation: Transformation: Transformation:
Transformation: Transformation: Transformation:
Transformation: Transformation: Transformation:
Domain: Domain: Domain:
Range: Range: Range:
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